Maths-2

Solve the word problems:

Example:1. Sudha brought 2kg 420g oranges and 1k 500g apples. What is the total
weight of the fruits?

Statement. Rough
The weight of the oranges = 2kg 420g. 2kg 420g
The weight of the apples = 1kg 500g. + 1kg 5009
Therefore the total weight of the fruits. 3kq 9209

Ans- 2 kg 420g + 1kg 500g = 3kg 920g

Q1. Do Worksheet - 6 in your Maths workbook.( Q3. a and b)
Q2. Do Worksheet-7 in your Maths workbook. (Q3. a and b)
Q3. Do Worksheet-7 in your Maths workbook. (Pg-88 a and b)



